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function CameraCalibration 
  
m11 = [2145;2120;1];m12 = [2566;1191;1]; 
m13 = [1804;935;1];m14 = [1050;1320;1]; 
 
z11 = [1772; 364; 1];z12 = [1778; 823; 1]; 
z21 = [2564; 31; 1];z22 = [2439; 551; 1]; 
  
m21 = m11;m22 = m14;m23 = m12;m24 = m13; 
   
l11 = GetLineFromTwoPoints(m11,m12); 
l12 = GetLineFromTwoPoints(m13,m14); 
  
l21 = GetLineFromTwoPoints(m21,m22); 
l22 = GetLineFromTwoPoints(m23,m24); 
  
l31 = GetLineFromTwoPoints(z11,z12); 
l32 = GetLineFromTwoPoints(z21,z22); 
  
x = GetPointFromTwoLines(l11,l12); 
y = GetPointFromTwoLines(l21,l22); 
z = GetPointFromTwoLines(l31,l32); 
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y = GetPointFromTwoLines(l21,l22); 
z = GetPointFromTwoLines(l31,l32); 
  

A = [x(1)*y(1)+x(2)*y(2) x(1)+y(1) x(2)+y(2) 1; 
     z(1)*y(1)+z(2)*y(2) z(1)+y(1) z(2)+y(2) 1; 
     x(1)*z(1)+x(2)*z(2) x(1)+z(1) x(2)+z(2) 1]; 
 
[u d v] = svd(A); 
x = v(:,end); 
 
px = -x(2)/x(1); 
py = -x(3)/x(1); 
f = sqrt(x(4)/x(1)-px^2-py^2); 
  
K = [f 0 px; 
     0 f py; 
     0 0 1] 

K = 
 
    1317.2         0    1931.8 
         0    1317.2    1146.1 
         0         0          1 
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